|
Podlzuna R4 6 B /=

&O_T_E__mm Lﬁ_%cu_ vm&lfk.l:_‘tacu.z-e o

Jatlumpled to =olue Rs Pobloun oy usiag

o thaerema 8.2 oA A=0o auad R=2,

howsever Jm_gncwlm_mmly_nmd for

1 O0<A<«l as Q._%zmm%ﬂm_&w

Anfk. W ue cousider e geaweiic RByorowacda
WACHoA  codM Aanfe. parmomeder o=, §Zdezo,

Thein

e M Zne_xh _. _Lﬁq,-_‘ﬁﬁtﬁ_)_

Lo $¥adesa s dofived as Xe=-39 & roRe

-_ﬁ:( o shundacd Browwain wiohow §$Riltzo

C.@MW\}!, B

| PCwmax 2o > 220 aumcuc_zbl__zﬂ >:z_\ o

- = ® (o tu(2el20) > 2u(2))

IHere we Wowe Used Yot Zo > 0 cund za > o,

mmbkmpla_&_’r_\mdcw o _i_a_p@aﬁn:ueg—




Q—/'L

Pmb\fom &.M..6 S————"

Fuctuermore, it is maportouat thak tag

Lm%gﬂmmmgiwm&mg_& oL,

LMKLJZQ e i;d(;oﬂftlzg\;: Xi-..

wwich leads Yo

Plwayx Ze 2220 = Plimax ZQL_:".‘_EM._(,&)\,-

Qer::.l'l HYack sz“’io—it*o'&t .. las dnfe

-3 <o (as o> o) Qg&d_meLg__]o_g.@MeﬁLL

ST gl avieny.

PCwiax Xe > i (.i)\_ = e G

I

V(&)
€.

il
o

H
o




	Problem 8.4.6 (1)
	Problem 8.4.6 (2)

